TLPpYh T ess2ilos ' )
ELEPILT %’Am%uwuw‘»w&?t:?OQOyﬁ

ARpl=1E % N EIIVE R =

STV : ST AR
T=0% <?i><'ﬁ‘tgﬁﬂl S T Extn3xo

? ; ﬁ a7

‘o>

<5 da ) #10kg
3¢S B ks A = 9
WA Lo b
% dha B EAEE il ) -
7 E F j -6%090 ﬂiyl—y
o R = 52 451019
7\
F B £930kT. » .
A7) =D
' T @é‘j@{f b‘;y:ﬁffxé‘_:i ¥
vt ?}’9 i'o k‘}-
4
: = 1:-le - | _
. 25~ _'-},\_,I{. = .
3‘.?_;\/ PE N K&
. X’ R P30 7
| ' : : s yak
= f'{d‘-%k‘clvéht | _ ? X< : : Z |25\ &5 'l kg
) 33:’("‘(,'}'\-77, _ : Ny . @ 1= E?'F’;E:T @/
é‘a%ﬁ b3 =Y s hadtRieéh b \ETaEe0 a0 1 _ @@
| . = MEERE 3B ONTY T - 18125T8) < Gty

v Flu BTy

o @a

S0es o %
giitan o, A0
/A

A, - e




